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‘The figures in the n-argm indicate full marlcs
—_ " for the questions.

. “Stridhan” is the absolute property of 'Hindu

married woman -aqj ari’ deal “With 4y ‘manner
she likes— Explain.

Discuss the ‘maodes of devolution of ¢ Stridhan’ after
the death of a I-Imdu femele. ,8+8—!6

OR

D/ISCUbQ/ thf meaning of Strldhan accordmg to
anu afld Yajnavalkya. Erumeratt differerit kinds
of woman’s. property. - 8+8=16
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2. How docs the properties of a male Hindu devolve:
op his death undct the -Hindu Succcsswn Act,

956 ?
Write an exhausuve note on the Hindu Succession
Amendment Act, 2005. - ' 8+8=16
7 S
Discuss the objects qf the Hindu Succession Act.~
1956. 6+10
Write briefly the provisions félating to succession
of the property ‘of 2 Hindu fermale.. . .6+10

3. Discuss the institutions of religious and-charitable
- endowments. Write thie legal effects of a complete -

dedication’ and- partial dedrcahon. . 8+8

Can a glft be made in, favour of an unbnm persbn ?
/W’ant are the essential requxremcnt.\ ofa vand gift

“in Hindu Law ? Can gift- once completed be
revoked — Explam

I ‘\N " -‘ 'i“ {\- ‘.;"-‘ - . h-"g -\,‘;‘f e -onf':

,4. “The mfrmge,m.ent ot the pmm on‘é of.Part 111

relating to Fund amental Rights, renders any law -

in force void (Ast, 13)." =

Discuss the views of the Supreme Court whlle
interpreting the ancient Hindu Text with special
reference to’Art,13 of the Constitution.

Or

Discuss the need of “Uniform Civil Code!” for all
the citizens of India. Embellish your discussion
with some landmark decisions of the Apex Court.

16
The gereral rule is that when readjustment can be .
made, 2 partition need not be re-opened. What are

the different circumstances under which pattition
can beé reopened ?

Discuss/'the persons who have a right to partition

‘and entitled to a.share. ' T 8+8

: 0’"
Write short notes on the followmg

(@) Dorncstlc vxolence .

(b) Family Court Ac,t, 1984.
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